8 7 6 S 4 3 2 | 1

REVISIONS
[> NOTES ® [ DATE APPROVAL |
1. STANDARD GLAZING OPTION — .125" fvoos | v (/1872081 TLC
MINIMUM DSB GLAZING MEETS UNIFORM STATIC v [az27/21 | Tic
DESIGN PRESSURES SHOWN ON THIS DRAWING.
GLAZING SHALL HAVE A MAXIMUM HEIGHT OF
6.70" AND A MAXIMUM LENGTH OF 24.00".
GLAZING IS NOT IMPACT RESISTANT AND DOES
NOT MEET THE REQUIREMENTS FOR
WIND—BORNE DEBRIS REGIONS. 13 GA HORIZ ANGLE\
2. ALUMINUM FULL VIEW OPTION — ALUMINUM §DOOR |
FULL VIEW SECTION MAY REPLACE ANY !
SECTION EXCEPT TOP AND BOTTOM PANELS.
ALUMINUM FULL VIEW SECTION SHALL HAVE
RAILS AND STILES OF EXTRUDED ALUMINUM 15 GA MIN HORIZ ﬂ
ALLOY 6063—T6 WITH A 2—1/4" INTEGRAL FIN Track ] J
AND .125° MINIMUM DSB GLAZING INSTALLED W .
WTH ALUMINUM RETAINERS IN ORDER TO g L.
MEET UNIFORM STATIC DESIGN PRESSURES 13 GA CONTINVOUS ) - dr
SHOWN ON THIS DRAWING. AFV PANEL SIZE IS : i \ -
45.5"x21.9" (MAX). GLAZING IS NOT IMPACT H > \ Vi o R
RESISTANT AND DOES NOT MEET THE 15 GA MIN VERT H < H P el <
REQUIREMENTS FOR WIND—-BORNE DEBRIS RACK + I ’
REGIONS. | : 20 GA CENTER STLE—|Eo,
3. MINIMUM_OF 1° OVERLAP ON BOTH JAMBS 5/16"x1-5/8" — H a ©
REQUIRED TO MEET NEGATIVE DESIGN LAG SCREW AT EACH N H
PRESSURES. HOLE LOCATION FOR " W il o
WOOD SUBSTRATE. SEE N )
4. SUDE LOCK OR OPERATOR REQUIRED. SHEET 3 FOR MOUNTING 7 ke
TO OTHER SUBSTRATES. o i :
5. SECTION STEEL TO HAVE THE FOLLOWING \ ] &
MINIMUM THICKNESS: 4 S A
421, 423 — 20 GA H 7
427, 429 — 24 GA H H (O
. 436 — 25 GA 1/4—20x9/16" TRACK—_| i i D 4
BOLT AND 1/4—20 HEX N . H
6. THE DESIGN OF THE SUPPORTING NUT AT EACH TRACK i 20 GA END STILE L* SHEET o,
STRUCTURAL ELEMENTS SHALL BE THE CUP LOCATION i : E
RESPONSIBILITY OF THE PROFESSIONAL OF (SEE DETAIL A SHEET 3) H <
RECORD FOR THE BUILDING OR STRUCTURE i ; .
AND IN ACCORDANCE WITH CURRENT BUILDING _/ O Lke
CODES FOR THE LOADS LISTED ON THIS 11 GA TRACK CLIPS : ; A
DRAWING. (WELDED, BOLTED, OR u N J
RIVETED TO WALL L =1~
7. TRACK CUPS SHALL BE LOCATED WITH ANGLE) SEE NOTE 7 AND '&
CENTERUINE OF BOTTOM TgugkspﬁgEng'mlNG DETALL F SHEET 3 1 ot
MA M ACK Al MAl H 0]
TRACK CLIPS SPAGED AT 24 0.C. MAX. s(';"gﬁ k‘éﬁﬁ.é’!‘.f T i A
SPACING BETWEEN TOP TRACK CLIP AND 4
SPLICE PLATE SHALL BE 30" 0.C. MAX. OPERATOR — SEE NOTE 4) y o
i £
8. WHEN MOUNTING TO WOOD, DOOR JAMB TO H H ° 1 §
BE MINIMUM 2x6 STRUCTURAL GRADE LUMBER. H
REFER TO JAMB CONNECTION SUPPLEMENT " § o
FOR ATTACHMENT TO SUPPORTING >
STRUCTURE. "
>
] < [
: 4 L
NOTE:  (4) SECTION SOLID DOOR i i
SHOWN. SEE SHEET 2 FOR U—BAR : H § .
LOCATIONS ON DOORS WITH OTHER . i 1)
SECTION QUANTITIES AND SEE NOTES 1 L «||H a H
SUPERIMPOSED DESIGN PRESSURE & 2 THIS SHEET FOR GLAZING n w H ° | 0 —
LOADS ON SUPPORTING STRUCTURE " o N .
P2 () ~
. | poor MAX UNIFORM LOAD EACH JAMB 1 1 { {1 1
DOOR | HEIGHT (PLF) i \l
14-2"| AL +80.8/-90.0 =
Digitally signed by
John Christian
Voelkel
Date: 2021.05.03
03496 050" THE DOORS ARE DESIGNED AND MANUFACTURED TO COMPLY WITH THE 2018 IRC AND THE 2018 IBC.
’... sesessessessssseensnseses TIE]RAVWMI'D OTHER INFDRMATIDN mzﬂtmrmam»mmmmmnwwmmmmmmnsmmmm
’ ’ AHV OF_THIS m:'vm]ru R DFH ]rllmk mﬂ%ﬂ%{?m Lm'?é: R MJ'I'H[R]ZA‘I'I-!I]I]N T0 USEW;I'HEFWWTEVHP‘I“I‘;BI VITHOUT THE SPEUF'C VRI.'I'I'DI CONSENT OF m#vn'ﬂ:zn nnw%m
STATIC PRESSURE RATINGS werovioszes 1 J. C. VOELKEL 4 T R DU . —————
MAX WIDTH: 14—2" '.........-...-................ ] @ 6 VHOLE N/A . T1aso1 mmmnup&r}g%e%um
DESIGN PRESSURE(PSF): +11.4/-12.7 T . CONRE - TRDER 251 +n=4/-ng NUHBERS: ¢ 25 T CLaRk A/-127 PSF, 14-27 NAX ’
MAX HEIGHT: 24'—1 l' <~ 133174 ‘& wm e |vis S i | o tda | L [T SEmEN | V1421
IMPACT/CYCLIC RATED: NO MAX SECTION HEIGHT: 24] | fp %™, S —] S S ) N/A o B D- 411794
' O ( / e “REF DWG__ | USED DN + 1/16 ANGLES: & S° €A T CLARK | 4/27/21 bos™ N7a sl o= 3
8 7 | L R 'CENSE. | 4 | 3 | 2 1
‘ & ®0s0c0s”

W JIONAL
s


chris
Texas


1/4-20x9/16" TRACK BOLT
AND 1/4-20 HEX NUT

THROUGH THE SLOT IN THE
TRACK AND TRACK CLIP

12 GA COMMERCIAL TOP FRAME  /
BRACKET WITH 13 GA ROLLER |
CARRIER ATTACHED WITH (4)
1/4—14x7/8" SELF DRILLING
CRIMPTITE’ SCREWS

2" STEEL ROLLER WITH K
5—1/8" STEM AND 7/16" 7P
PUSHNUT AT EACH ROLLER /
LOCATION. 1/4" MAX :
BETWEEN PUSHNUT AND |
BRACKET OR HINGE }

13 GA WIDE BODY END
HINGES EACH ATTACHED

WITH (4) 1/4—14x7/8" SELF
DRILLING CRIMPTITE SCREWS:

/\/—(2) 1/4—14x7/8" SELF DRILLING
CRIMPTITE SCREWS

HALF HINGE
(2) 1/4 x 1/2°

CARRIAGE BOLTS AND
1/4" FLANGE NUTS

14 GA WIDE BODY

INTERMEDIATE HINGE
ATTACHED WITH (4)
1/4—14x7 /8" SELF
DRILLING CRIMPTITE
SCREWS:

12 GA BOTTOM BRACKET
ATTACHED WITH (3)
1/4—14x7/8" SELF DRILLING
CRIMPTITE SCREWS

ATTACH U-BARS WITH

(2) 1/4-14x7/8" SELF
DRILLING CRIMPTITE SCREWS
AT ALL STILE LOCATIONS, TYP.

STATIC PRESSURE RATINGS APPROVED SIZES

MAX WIDTH: 14'-2"

DESIGN PRESSURE(PSF): +11.4/-12.7

TI'E]RAVWANDALL
AND INFDRMATIDI N.mvm.:mmpm,mvum!mmmmwnm
ANY OF THIS DRAVING DR INFORMATION IS INTENDED

IMPACT/CYCLIC RATED: NO m:i ::I:':(IN il“E"l;‘lH':r 24| 1 3 3 1 7 4 :“’5;
- REF VG
5 T T WOeEnsen s
“ Ss ".-ooc' “O.'
\\\ IONAL B

(12) SECTION DOORS WITH
(8) 3" 20 GA 80 KSI U-BARS
LOCATED AS SHOWN

(11) SECTION DOORS WITH
(8) 3" 20 GA 80 KSI U-BARS
LOCATED AS SHOWN

(10) SECTION DOORS WITH
(7) 3° 20 GA 80 KSI U—BARS
LOCATED AS SHOWN

(9) SECTION DOORS WTH
(6) 3" 20 GA 80 KS| U-BARS
LOCATED AS SHOWN

(8) SECTION DOORS WITH:
(6) 3° 20 GA 80 KSI U—BARS
LOCATED AS SHOWN

(7) SECTION DOORS WTH
(5) 3" 20 GA 80 KSI U-BARS
LOCATED AS SHOWN

(6) SECTION DOORS WITH
(4) 3° 20 GA 80 KSI U-BARS
LOCATED AS SHOWN

(5) SECTION DOORS Wi
(4) 3" 20 GA 80 KSI U-BARS
LOCATED AS SHOWN

(4) SECTION DOORS WITH
(3) 3° 20 GA 80 KSI U—BARS
LOCATED AS SHOWN

OTHER INFORMATION CONT/ HE CONFIDENTIAL AND PROPRIETARY rwm:mmunm;_mlumrrsmm

PROPERTY
DISCLOSED TO ANYONE WITHOUT THE PRIOR VRITTEN
TD[PERATEASALMISE[RMII‘H[R]ZATII]NTDLBEHFIRMVHRPBIV‘IHMTHESPEW'CVW

The Gemuine. The Criginad DATE

LEVISVILLE, —
Py P CLark | 114721

COMPANIES.

MAT.IDN. NO nm.usun: OF
IIIISBIT I‘.IVERH DOOR
INII.DAI'I OPTION CODE

4217423/
"-‘12.7 PSF, 14'-2" MAX

CORPORATIDN.

2030
'427/429/434/436,

MATERIAL CHECKED B
J QIAN 1/14/21 TG
N/A ‘APPROVED BV, &a D- 411794
T CLARK | 4/27/21 ko N/A [ssie = 3

2 1


chris
Texas


MIN 3/16” THICK
STEEL FOR MOUNTING

MOUNTING WALL ANGLE:

TRACK CLIP

1/4—20x9/16"
TRACK BOLT AND
1/4-20 HEX NUT-

TRACK

MOUNTING TO STEEL DETAIL

CONTINUOUS
WALL ANGLE

@ 174 x 7/16(

SEMI TUBULAR
RIVITS OR (2)

1/4"-20 TRACK \
BOLTS WITH NUTS™,
OR (2) .28" DIA
RESISTANCE SPOT
WELDS

!

STATIC PRESSURE RATINGS

APPROVED SIZES

DESIGN PRESSURE(PSF): +11.4/-12.7

MAX WIDTH: 14'-2"

MAX HEIGHT: 24'—1"

IMPACT/CYCLIC RATED: NO

MAX SECTION HEIGHT: 24

EBOXX MIN.

,--o---o.---o--oo--...--oooo

8

7 I

RUBBER GASKET

1/8" ANNEALED DSB GLASS (MIN)

DLO= 5°X20”

OPTIONAL: WALL ANGLE MAY BE ATTACHED TO
SUPPORTING STEEL WITH MIN. (1) 1/4—20x7/8"
SELF DRILLING SCREW WITH 1"
EACH HOLE OR PAIR OF HOLE LOCATIONS IN
LIEU OF WELDING

0.D. WASHER AT

RUBBER FRAME GASKET

PLASTIC FRAME

1/8" ANNEALED DSB GLASS (MIN)
DLO= 5 3/4"X22 7/8"

(10) #8X2" SHEETMETAL SCREW
(1) PER VERTICAL FRAME LEG

(1) PER HORIZONTAL FRAME LEG

3/8" SIMPSON TITEN HD,
2-3/4" NIN_EMBED INTO
NIN 2000 PSI CONCRETE
AT EACH HOLE OR PAIR
OF HOLE LOCATION:

-.. 4

5/16"x 1-5/8" LAG
SCREW AT EACH HOLE
LOCATION FOR WDOD
SUBSTRATE.

MOUNTING WALL ANGLE-
TRACK CLP

12GA SCAB BRACKETS (OPTIONAL)
© 12" SPACING SECURED TO WALL
ANGLE WITH 1/4—20 TRACK BOLT
AND 1/4—20 FLANGE NUT

3, SIMPSON TITEN HD,

2-3/4" MIN_ENBED INTO
2000 PSI_CONf

WALL ANGLE FACING

INWARD
TRACK CLP
B
1/4-20 HEX NUT-
TRACK
CONCRETE MOUNTING DETAL — ANGLE N

TRACK cUP— DPTIONAL: WALL ANGLE MAY BE ATTACHED TO
Yaoms SUPPORTING STEEL WTH MIN. {1) 1/4-20x7/8"

T AND SELF DRILLNG SCREW WITH 1 O.D. WASHER AT
1/4-20 HEX NU EACH HOLE OR PAR OF HOLE LOCATIONS IN
TRACK LU oF weLoi

’d J. C. VOELKEL ¢ A DTN o L i B BART b T ) COPED I YA O TS0 YE A UITHT T PRI RTIEN GO (5 IVEREAD (0 CRPATION 6 DSOS
' MVD'TIHSMV]NEIRTDI]SMDTD[PERATEASALMISE[RMHH[R]ZATWNTD MNHMIV'IHIIHTHESPEW'CVWW I'NEHI DOOR CORPORATIDN.
".....--...-............-.......‘ L ‘;I‘:Hum T mmmnmmumnsm
' <" 1 3 3 174 @ 4 - M Clark | 114721 SERIES 421/423/427/429/434/436,
W3 O ‘l‘/" 7 ThinVIVE e 5
.‘O R /CENS%' '.\é: REF WG VA G DV e
M SSionAL B 2 1



chris
Texas


		2021-05-03T10:34:26-0500
	John Christian Voelkel




